
AQs of 1 kWh 

Background Info – PAC August 2017 



AQ Calculation – High Level View 

1. Look for new actual 

read since last calc 

No new read - 

END 

2. Look for previous 

read 12 months earlier 

No previous read 

between 36m and 

9m earlier - END 

3. Sum all the recorded  

consumptions between 

the start and end reads  

Note: consumption is not 

calculated as part of this 

process: existing 

consumptions on UKLink 

are added up 

5. Apply interim 

tolerances if first read is 

pre-Nexus – cancel 

new AQ if failed 

4. Apply weather 

correction to get to 

annual seasonal 

normal value (NDM only) 

4a. If sum of 

consumptions <1kWh, 

set AQ to 1 

END 



Negative Consumption Example 

100 
160 140 

 

 

-9,600  

60 

Sum of existing consumptions = -9,140 

9342 

(Start  

Read) 

202 

(End 

Read) 

 Using consumptions allows AQ to calculate 

even if the meter has been exchanged – 

more AQs are updated 

 Causes of negative consumptions include: 

 Missing/late meter exchanges 

 Incorrect Through the Zeros (TTZ) count 

 Incorrect meter reads  

 

9442 9602 9742 142 

(TTZ  

= 0) 

Meter readings: 



Negative Consumptions - Resolutions 

 Wherever possible – incorrect reads should be replaced on-

line 

 Replacement read and/or TTZ triggers consumption 

recalculation 

 New meter read in current month also required to trigger AQ 

re-calc 

 New AQ Amendment process sets a new backstop date – 

use with caution 


